EAGRAROBREERT — 2 N— ABISH —F

202058210 (K) 4EEMA5H

IPERC1 45%4mL (xwlw | mEmml - |5 ) won s
[A&4£] 1% :700,000 8 ~ 23#&:196,000 3#&:98,000H ~ 43#&:70,000™ . 53 :56,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N . . TR .04, 34— ) — RAFIE (FEHH)
AR R Y R PP > 4 = 2((21)9 4-3-1-1 | 40.0 1 <5+030) e
R:Tv TRy b BivAx5FT— EvilLy RT7—L
3. S =i 4 5 | HEE 2:06.6 9-9-4-3 | 40.8| — 5 464 | EEFI— (Fk)
Syx—AH-—F> 56.0 (%21 4) G7) |HEADEZ
XD THANAN B4 TL—X HET7—L4
£y 4 4 | TRHE 2:06.8 1-1-2-2 | 42.0| - 2 446 | FFHE (ER)
] 54.0 (1) (+4) IWFTERF
:tr/saJAA BIIRY-TrU puie ]
5 . =pm . K ] 5-3- — EHEE (FE)
Ey 75772 K 4 5 36_0 (22.017/.22) 5-5-3-4 | 41.9 9 ?8;‘ ﬁ@;ﬁ
RiN— KIS 8574 H J =% Ty — I
= s = FEREATL :07. —6-4- . — =BTk (i)
HALE YT — # 5 Bk (21017/24) 6-6-4-5 | 42.0 6 (422) ;‘q:aa%?f
R:Tr7—3UT7> B TaH-FT> Ptk e
8,0 = JIRE— -07. 76— . = FERE (EH)
6lagliy| T1o>74-5> o4 ML 2(037)9 7-7-6-6 | 42.0 3 ggs) ;;/#E;
L:Iq 7ROy BI-YLVILET FERS
AT i o6 | MEEF 2:08.0 11-11-11-9 | 40.5 | — 4 481 | TEEHER (EHR)
7l5|5|72>7 Uy 7T (71) () |#) A—NHFAZ MEE
L:yQ7% BN-YvrTb— K H&
> 44 | RER 2:08.7 10-10-10-8 | 42.1 | — 8 479 | EHES (EB)
8|810| 7 7FY %2~ 4.0 (4) 4 | B Fr—xpEvar
:Fq—=7TTVZ 7 B:57)-n"O0-X EZHTT—L
. AARKHE :08. -8-7- . - BR¥YER (EE)
9 3| AREY LR o6 3 2(30/%9 8-8-7-7 | 43.0 7 33;?) ﬁ?m%{%
Z:arrFaqdy b B:VZyIN=FK FBEZX %Y K
2 S o4 | WEHEX 2:09.9 2-2-8-10 | 44.3| — 11 480 | #iIBEX (EMH)
10[7|8|T—AIX=~NW 56.0 © G | ) E<Ba—gKL-va
:7Q07% B:A—-XIIXK &I E—
. . A2 mfEA 1. —4-9- . — IO#E (FEk)
1lzlg | #oFr—nzbe 46 i 2(181>3 3-4-9-11 | 45.5 10 <4+750) Pinis
L:bh—trhwLRY B:OFI Rt 71X
® 1 —F—EBIERL
13=7r= 7,8,9,1,2,6,11,3,4,10,5
Ra=gr= 7,8,1,9,2,6,11,3,4,10,5
BEE 1,7,2,(4,6),11,3,8,9,10,5
41—+ — 1,7,4,2,6,11,3,10,5,8,9
[ N3
BB 1 100M 714K 1-4 290M e 1-4 650M 3JEHE 1-4-7 900M
8 B 1 100M 1-7 170H B = 1-4 710M K31 1-4-7 2,680
4 210M 4-7 810 | | & & 1-4 760M
7 140

ARICOVWTRDTEEERROODE. TR LI,




